@ EJERCICIO 42
Multiplicar:
1. x3+xy+y? por x—y. 13. x3+4+2x2—x por x2—2x+5.
2. a®+b%~2ab por a—b. 14, m®=3m®*n+2mn? por m?—2mn-
3. a*+b%+2ab por a+b. 16. x34+1+x por x%—x-1.
4 x8-3x2+1 por x+3. 16. 2—-3x*+x? por x2=2x+3.
6. a*—a+a? por a-1. 17. m3—4m+m3—1 por m®+1.
6. mi4+m2n24+nt por m2—n2, 18. a3—5a+2 por a’—a+b.
7. x3—2x243x~1 por 2x+3. 19, x?—2xy+y?. por xy—x2+3y%
8. 3y3+5—6y por y2+2. 20. n2-2n+1 por n*—1.
9. mé—=m?+m- 2 por am+a. 21. a%—3a?b+4ab* por a?b—2ab?-1l
10, 3a%-5ab+° )2 por 4a—5b. 22. 8x3—Yy3+6xy?—12x%y por 2x+3
11. 5mi=—3m? 2+4n* por 3m—n. 23. 2y%+y—3y2—4 por 2y+5..
12.  a*4a+] por a?—a-—1. 24. .3x%—a3+2ax? por 2¢%--x2—3ax.
B EJERCICIO 43 \ :
Multiplicar:
;e a*—g*+l4gr+2 Por a+1.
2. xﬂ+1+2xn+2_xn+3 por X2,
3. mrlemAtiemetiems por mi—2m+3,
4. an$2_2an+3anw-i por aa+an+1.
5.~ x3+8 L8l Oga+l r xt+a_2xn+1.
6. 3e2—2¢*'+a* por ai+2a-1.
7. B3ax'14g*—2q*-2 por: g*—g*=14-gt-4,
8. mlrl._2ml+2_ml+3+ml+‘ por ml.—s..ml-1+ml—3'
9, X814 Qx 82 x8=3 L yb~4 DOr —xd=iqx1=loxi=2
10.  gab—an—1b24-2qn—2h3—qr=3h4 por a"bi—qgr—2p4,
11 il by m.Lhm
1o a*+b" por a™+b=
12. gr=1-—po-1 por a—b.
13, g¥m+1.502m+24.304m por gim=3.46gIm—1—gqsn-2,
14. xl*"-y!—i.*_sx&jgxrbl..,ix&#iyl Por _2x2l—1yi—2_.10x2l’"yl_4xh—’yl—1.
B EJERCICIO 44 ;

Multiplicar:

Ll Ll Y g 0k 2 2_
- sm? + ymn——n? por —m?+ 2n? —mn.
x-—%—*y por \%y-l{--:ux. -:-x2+-:~x——:- por 2x3--3—x+2.
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3 —xi- -:-xy = -:-*y’ por %x —-,—;—y. 7. ax- —:—xz + %a2 por —:—::2 —6ex + -:—az-
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ik o zxyv ~Kaﬂy por x? - 8xy+3—y.
B rtaltautg dy By L T T

, ,+.ax‘ T+ ox® por ox 5+’10x.
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